RALJINTEK

Creating Passion

= Screw M3 L6 x 30
Motherboard/SSD
= Schraube M3 L6 x 30
Fir das Motherboard/SSD
= Vis M3 L6 x 30
Pour carte meére/SSD
= Tornillo M3 L6 x 30
Para la placa base/SSD
= Vite M3 L6 x 30
Per scheda madre/SSD
= M3 L6 Al x 30

= Screw #6-32 L8 x 18
PSU/Water-cooling bracket

= Schraube #6-32 L8 x 18
Netzteil/Wasserkiihlung
Halterung

= Vis #6-32 L8 x 18
Alimentation/Support
watercooling

= Tornillo #6-32 L8 x 18
PSU/Soporte para
refrigeracion por agua

BEE<Y—HR—F/SSD = Vite #6-32 L8 X 18
= M3 L6 #E#k x 30 Bracci per raffreddamento
[EE E#1R /SSD a liquido

= BuHT M3 L6 X 30
MarepuHckoi nnarel/SSD

= M3 L6 Vida x 30
Anakart Ozel/SSD

= Srubka M3 L6 x 30
Plyta gtéwna/SSD

= Parafuso M3 L6 x 30
Placa-mae/SSD

= #6-32 18 A x 18
BREI=VNKATSrvE

= #6-32 L8 1Rk x 18
EIEPSUEIR /K B2

= BUHT #6-32 L8 X 18
Ans B v kpoHwTeHa
BOAAHOIO OXnaxaeHusa

= #6-32 L8 Vida x 18
PSU/Su sogutma baglantisi

= Srubka #6-32 L8 x 18
zasilacz "Wspornik
chtodzacy wode

= Parafuso #6-32 L8 x 18
PSU/Suporte de arrefecimento
de dgua

= Stand-off x 6
Motherboard

= Abstandshalter x 6
Motherboard

= Ecarter X 6
Carte-mére

= Distanciador x 6
Placa Base

= Distanziale X 6
Scheda Madre

= REVEFT x 6

= Cabletie X 15

B Y —H—F Settle Cable
= §11E x 6 = Kabelbinder x 15
B E #R Um die Kabel zu binden

= CTolka X 6
MaTepchKax nnarta

= Taslyici ayak x 6
Anakart

= Nakretki patowe x 6
Plyta gtéwna

= Espacador x 6
Placa-mae

= Attache pour cable x 15
Passage de cable

= Lazo de cable x 15
Cables estandar

= Fascetta per cavi x 15
Management dei cavi

= 5= A x 15
I—F%EFLSHD

= RIRH x 15
iR

= KabenbHble cTAXKM X 15
Pa3meuienne kabenu

= Kablo kementi x 15
Kablo Diizenleme

= Opaska na kabel x 15
Zarzadzanie
okablowaniem

= Zip (cable tie) x 15
Montar cabos

= Water-cooling bracket x 1

= Wasserkiihlung Halterung x 1

= Pour support watercooling x 1

= Soporte para la
refrigeracion liquida x 1

= Supporto per impianto a
liquido x 1

= KABTZTYE X1

= KBZE x 1

= [InA KPOHLWTeiHa BOAAHOIO
oxnaxaeHus x 1

= Su Sogutma igin baglanti x 1

= Przytacza do chtodzenia

= 8 port control hub x 1

= 8 Port Controller Box x 1

= Hub 8 ports x 1

= Control hub de 8 puertos x 1
= Hub di controllo ad 8 porte x 1
=8 R—ha¥hA—/L/\T x 1

= HEERIE x 1

woda x 1 = 8-MOpPTOBbLIN
= Para suporte de resfriamento KOHLLeHTpaTop X 1
de agua x 1 = 8 port kontrol merkezi x 1

= 8 piasty sterowania portem x 1
= Hub de controle
de 8 portas x 1

ZQrF 0S5 BVQ

EE-ATX GAMING CHASSIS, SILENT/WINDOW

THE VISION OF GAMING - PROVOKE YOUR CHALLENGER

= Screw #6-32 L7 x 40
3.5"HDD

= Schraube #6-32 L7 x 40
3.5"HDD

= Vis #6-32 L7 x 40
3.5"HDD

= Tornillo #6-32 L7 x 40
Disco Duro 3.5"

= Vite #6-32 L7 x 40
3.5"HDD

= #6-32 L7 AL x 40
BEIE3.5"\— K71 RY

= #6-32 L7 124k x 40
BI%E 3.5

= BUHT #6-32 L7 x 40
3.5"HDD

= #6-32 L7 Vida x 40
3.5"HDD

= Srubka #6-32 L7 x 40
3.5"HDD

= Parafuso #6-32 L7 x 40
3.5"HDD

= Audio Dust Plug x 2

= Audio Staubabdeckung x 2

= Cache anti poussiére pour
Audio x 2

= Enchufe de polvo x 2

= Presa Audio antipolvere x 2

s F—TAABHETSY x 2

« BIRALBEE x 2

. nblﬂeBal.LLlALLleHHaﬂ
3arnywka ans Ayamo x 2

= Ses Toz Fisi x 2

= Wtyczka kurz audio x 2

= Conector anti-poeira Audio x 2

= MB Standoff Driver tool x 1

= Mainboard Abstandshalter
Befestigungstool x 1

= Ecrou de sécurisation pour
fixation de carte mere x 1

= Herramienta para el driver
del controlador de la
placa base x 1

= Supporto per montaggio
scheda madre x 1

» XP—R—FREVFFT
RSAN=Y—=)b x1

= TR x 1

. MHCprMeHT ANA MOHTaxa
CTOVKM MaTepUHCKOA
nnatbl x 1

= Anakart Tasima Araci x 1

= MB $ruby dystansowe x 1

= Ferramenta do Standoff da
placa mae x 1

= Remote controller x 1

= Fernbedienung x 1

= Télécommande x 1

= Controlador remoto x 1
= Comando a distanza x 1
= JE—FIVFA—5— X1
EFERR X1

= MynbT ynpasnenus x 1

= Uzaktan kumanda x 1

= Zdalny sterownik x 1

= Controle remoto x 1

= Screw M3 L15 x 6
For 5.25"/CD-ROM
= Schraube M3 L15 x 6
5.25"/CD-ROM

= Vis #6-32 19 X 6
5.25"/CD-ROM

= Tornillo M3 L15 x 6
5.25"/CD-ROM

= Vite M3 L15 X 6
5.25"/CD-ROM

«M3LI5RLx6
EE5.25"/CD-ROM

= M3 L15 %5k < 6
E%ES5.25"/CD-ROM

= BUHT M3 L15 x 6
5.25"/CD-ROM

= M3 L15 Vida x 6
5.25"/CD-ROM

= Srubka M3 L15 x 6
5.25"/CD-ROM

= Parafuso M3 L15 X 6
5.25"/CD-ROM

= USB Dust Plug x 2

= USB Staubabdeckung x 2

= Cache anti poussiére
pour USB x 2

= Enchufe de polvo x 2

= Presa USB antipolvere x 2

= USB BIFET S x 2

= USB SLPSEEZE x 2

= MbinesawmuweHHas
3arnywka ans USB x 2

= USB Toz Fisi x 2

= Wtyczka kurz USB x 2

= Conector anti-poeira USB x 2

= CD-ROM shockproof pad x 4

= Anti Vibration Ring/Pad fir
CD-ROM x 4

= Anneaux anti-vibrations
pour CD-Rom x 4

= Anillos anti-vibracion/
Almohadillas x 4

= Anelli e pad anti vibrazione
per CD-ROM x 4

= CD-ROM FBA#R/ \w I x 4

= CD ROM BER x 4

= AHTUBNBPaLIMOHHOE
YNNOTHEHME W MOANOXKKA
ans CD-ROM x 4

= CD-ROM Titresim Engelleme
Halkasi/Pargasi x 4

= podktadka amortyzujaca
ptyte CD-ROM x 4

= Anéis/pads anti vibracao de
CD-ROM x 4

= Connect cable x 1
= Vebindungsskabel x 1

= Cable de connexion x 1

= Cable conexién x 1

= Cavo di connessione x 1

= BT =TI x 1

EER X

= CoeiMHUTeNbHbIN Kabesb X 1
= Baglanti kablosu x 1

= Kabel potaczeniowy x 1

= Conecte o cabo x 1

Precautions

1.Incorrect installation and connections will make
the devices unable to work or may even damage
the motherboard. Please observe the instruction in
this manual and the motherboard manufacturer. Any
loss caused by nonobservance of the instructions in
this manual is not covered by the product warranty.

2.The connectors and sockets vary with different
motherboards. For detailed instructions, please refer
to the instructions provide by the motherboard
and power supply manufacturers.

3.All products in other package ( non-Raijintek
standard package / OEM ) comes with one year
limited warranty.

4.In case of conflict between the warranty provided
by the country of point of sale and this manual,
the warranty of the actual country of point of
sale shall be the prevailing document.

5.In case of malfunction of electronic components
or need of accessories purchases during the
warranty period, please return to the original
store of purchase.

6.More detail, please visit www.raijintek.com for
more information about warranty.

Warranty Information

1.Raijintek Co., Ltd. warrants that this device is
free of defect in material and workmanship and
provides a two-year limited hardware warranty
for the device commencing from the date of
purchase. Proof of purchase is required for
warranty service. The warranty offered covers
normal use as computer usage only.

.The following are not covered by the warranty:

- The Product which has been modified/repaired
without permission from Raijintek or the bar code
sticker has been defaced, modified or removed.

- Damage, deterioration or malfunction resulting
from any accident, calamity.

+ Shipping or transport damage by your local
courier, or any other cause which does not
relate to a product defect.

N

ERER

1HEREEMEZBEENEMRFIRENE
BIKRIRPERREIWRERRBEBET 18
RN ETRAEREN BN E RGN RERE -

2. S AEEBOHITEMNERRAE - Bl
LEHEIRTBREBERATRANERRAE -

3FELERUROMBERNER SRR —F8
IRIRE -

4ERBARMREHENERREBRE ZNARN
EEERE  BRERBBRORERE -

SNRBEIHAEERREPENERFIRMEE

R

RIEHEAZEY > BEREEEERS -
6EREBEIBHIE - B FBwww.raijintek.comifd
HWERESAR -
ERRE

1.Raijintek Co., Ltd RENERBEMKRETE LK
B WRHEBEAMNEMENERGEIRE -
ERBESEPREARRERER -

2T A B S EA IR IHRE

- ERIEBIERaijintekZENASBEN2HE -
ERFIBEEANBE -

CEREXK - BASHAEBNETE

BHhESEXEMERWBRVETHMER

PR @ RS TS BV IR IR

Front 1/O ports installation

.Case LED Connection:

Please refer to your user manual of your motherboard,
then connect these leads to the panel header on
the motherboard.

2.USB 2.0/ USB 3.0 Connection:
Please refer to your motherboard manual to find
out the section of "USB” connection.
PS. Make sure your motherboard supports USB3.0
connection.

3.Audio Connection:

Please refer to the following illustration of Audio
connector and your motherboard user manual.
Please confirm the motherboard which type used;
the incorrect installation and connections will
make the devices unable to work or may even
damage the motherboard. Please consult your
motherboard manual to get the correct infor-
mation.

SRR /0 ImOZLE

LED 1B R FRARR IR 2R R :
ESSIMREARBE  WIEMR ORI
R IERMEER MR E -

N

.USB 2.0/ USB 3.0 R 253883 :

B2 EIMIRERF ML MR CRYUSE E &
3L WERSFMGUSBIRTBEEEHR W
USBEEIR E -

o BEREMRESIEUSE 3.0 B@ENE °

3 BN LR
BRKREAETEIMRERFMRERENE
& AEREMR NS NREENHR - &
EHERTETERNIMREVNRENRIE - #S
SEMREBFMUSEERNZ KB °

VorsichtsmaRnahmen

1.Inkorrekte Installation oder Anschluss machen
dieses Produkt unbrauchbar, bzw. in der Funktion
beeintrichtigt, oder das Mainboard kann beschadigt
werden. Bitte beachten Sie die Anweisungen in
diesem Handbuch und die der Motherboard-
Hersteller. Jeder verursachte Schaden durch die
Nichtbeachtung der Anweisungen der Bedienung-
sanleitung werden nicht von der Garantie abgedeckt.

2.Die Stecker und Anschliisse variieren mit ver-
schiedenen Mainboard Herstellern. Eine ausfiihrliche
Anleitung finden Sie in der Beschreibung der
Mainboard und Netzteil-Hersteller.

3.Alle Produkte die in einer anderen Verpackung (
keine Standard Raijintek Verpackung / OEM) geliefert
werden, sind ohne Garantie.

4.Im Falle eines Konflikts zwischen der Gewihrleistung
und der Garanti i 1gen des Ver!
gelten die Bestimmungen des lokalen Point of
Sales (also tatsachlichen Land wo der Kauf
getdtigt wurde).

5.Im Falle einer Fehlfunktion der elektronischen Kom-
ponenten und oder eines Nachkaufs von Accessoires
wahrend der Garantiezeit bitten wir Sie das
komplette Produkt an lhren Héndler zurick zu
senden.

6.Fir mehr Informationen tber die Garantie
besuchen Sie bitte www.raijintek.com.

Garantie Informationen

1.Raijintek Co., Ltd. garantiert dass dieses Produkt
frei von jeglichen defekten in Materialien und der
Verarbeitung ist und bietet lhnen eine 2jahrige
Garantie ab dem Datum des Kaufes an. Der
Kaufnachweis wird benétigt fiir den Garantie
Service. Die angesagte Garantieleistung offeriert
nur den normalen Gebrauch eines Computers.

2.Folgende Punkte werden nicht von der Garantie
abgedeckt:

- Sollte das Produkt in irgendeiner Weise modifiziert/
repariert worden sein ohne die Erlaubnis der
Firma Raijintek und / oder der Bar Code Sticker
verkratzt, modifiziert oder entfernt.

- Mutwilligem Schaden, Zerstérung oder einer
Funktionsstérung die durch eine fehlerhafte
Handhabung verursacht wurde.

- Versand oder Transportschaden durch den Kurier,
oder jeglichem anderen Schaden welcher nicht
in einer Relation zu einem Produktdefekt steht.

Mepbl NpefoCTOPOXHOCTH
1.H

yCTaHoBKa U Mo, npuseayT
YCTPOIACTBO B Hepabouee COCTOAHME WM MOTYT Aaxe
MNoBpeAuUTb MaTepuHckyl nnaty. Moxanyucra,
cobniofaiiTe AaHHYIO MHCTPYKLIMIO U PYKOBOACTBO
NPON3BOANTENA MATEPUHCKOW nnaThl. MapaHTua
Ha M3flenve He pacnpocTpaHseTca Ha yuiepb,
BbI3BaHHbIN HECOBNIOAEHMEM AAHHON UHCTPYKLMK.
2.KOHHEKTOPbI 1 pa3bembl OTNNYAIOTCA B Pa3NuHbIX
MaTepPUHCKNX nnartax. [ns NOAPOBHbIX UHCTPYKLWA
obpatuTech, noxanyicra, K pykoBOACTBaM OT
Npon3BOAMTENell MaTepUHCKOI nnaTel U 6noka
nUTaHUA.

3.Bce ycTpoiicTa B Apyroi ynakoske (He CTaHAapTHas
ynakoeka Raijintek/OEM) noctaenseTca ¢ orpaHuyeHHol
rapaHTuein Ha OAVH roA.

4.B cnyyae KOHMAWUKTA MexXAYy rapaHTuen,
NpeAoCTaBNAeMOli CTPaHO NPOAAXN W AaHHBIM
PYKOBOACTBOM, TO NPeUMYLLECTBEHHYIO CUNY NMeeT
rapaHTus CTpaHbl NPOAaXU.

5.B cnyyae HenpasuibHOro (YHKUWOHUPOBAHUA
INEKTPOHHbIX KOMMOHEHTOB MAN ﬂOTpeGHOCTM
MOKYMoK akcecCyapos B TeYeHue rapaHTUUHOro
cpoka, 0bpaTuTech k NPoAaBLYy YCTPOACTBa.

6.Ans 6onee NoApobHONM UHDOPMALUK O rapaHTuu,
noxanyncra, noceTute www.raijintek.com

MHdbopMauua o rapaHTum

1.Raijintek Co., Ltd. rapaHTupyeT, 4To AaHHOe
YCTPOIACTBO He COAGPKUT MPOU3BOACTBEHHLIX Ae(eKToB
M NPeAoCTaBAAET ABYX/NETHIO OrpaHUyeHHylo
rapaHTMio Ha 0b6OpyAOBaHWe, HauMHas C AaThl
nokynkn. Heob6X0AMMO COXPaHUTb AOKYMEHT
NoATBEpXAAIOWNA NpUOBpeTeHne u3zenna ana
rapaHTUHOrO 06CNYXMBAHUA. [apaHTUA NPeOCTABNACTCA
B C/lyyae cob/iofleHNiA YCIOBUI KCnyaTaumm B
KauecTse KOMMbIOTEPHOIO UCMONb30BaAHMA.

2.MapaHTua He NpeAOCTaBNATCA:

- Ecm n3penue 66in MOAMGUUMPOBAHO/ OTPEMOHTUPOBAHO
6e3 paspewenus Raijintek unu Haknerika wWTpux-
Koaa bbin MCNopyeHa, M3MeHeHa UK yaaneHa.

+ ECM NoBpex/aeHus, U3HOC AU HepaboToCnoco6HOCTh,
[LeiACTBMEM HENPeOAONMMOlE CUNbI (CTUXMS, NoXap,
beacTene 1 T.M.).

+ EC/M NOBPeXAeHNA BO3HUKAN MPU NepeBo3ke nan
TPaHCMOPTUPOBKM YCTPOMCTBA BALINM MECTHbIM
nepeBo3ynkam unu no nNbor Apyroilt NpuunHe,
He OTHOCAWeCA K AedeKkTam B n3aenuu.

Front 1/0 Port Installation

1.Gehéuse LED Anschluss:
Bitte entnehmen Sie die Pin Anschlisse lhrer
Motherboard Bedienungsanleitung und verbinden
Sie dann diese auf die Panel-Header Ihres Boards.

2.USB 2.0/ USB 3.0 Anschluss:
Bitte entnehmen Sie die Header Informationen aus
lhrer Motherboard Bedienungsanleitung, suchen
Sie nach dem ,USB ANSCHLUSS".
PS.: Vergewissern Sie sich dass lhr Mainboard USB
3.0 unterstiitzt.

3.Audio Anschluss:

Bitte beachten Sie die folgende Abbildung des
Audio-Anschlusses und Ihr Motherboard Handbuch.
Beachten Sie die SachgemaRe Installation auf dem
Motherboard; bei Abweichungen oder unsach-
gemaRe Installation gehen Sie das Risiko einer
Fehlfunktion oder eines Boardschadens ein. Bitte
konsultieren Sie im Handbuch Ihres Motherboards,
die richtigen Informationen fiir die Installation.

YcTaHoBKa nepeaHux
nopToB BBOAA / BbIBOAA

1.CoeauHeHve LED nHaukatopa kopnyca
Moxanyicra, 0bpaTuTecs k PyKOBOACTBY NOb30BaTENA
MaTepPUHCKOIl MAaTl, a 3aTeM MOAKMIUUTE 3T
NpoBOAa K MaHen Ha MaTepuHCKOIi nnate.

2.CoeanunHenune USB 2.0 / USB 3.0:
MoxanyricTa, 06patuTecs Kk pykoBOACTBY nonb3oatens
MaTepuHCKOW nnatel B pasgen "USB" coeanteHrue.
P.S. Y6eanTech, YTO BalWa MaTepuHcKas niarta
noaaepxueaet USB 3.0.

3.CoeanHenune Ayano:
Moxanyicra, obpaTuTech K Cieaylowen UANCTpauum
ayavo pasbemMa U pyKOBOACTBY MO/sb3oBaTens
MaTepUHCKOW MAaThl. Y6eauTech 8 TUne HCnosibsyemoi
MaTepMHCKOi nniaThl. HenpasuibHas ycraHoBKa
W MOAKNIOYEHME NPUBEAYT YCTPOWCTBO B Hepaboyee
COCTOAHME UAM MOTYT MOBPEAUTL MaTePUHCKYIO
nnaty. BHMMaTenbHO CredyiTe WHCTPYKUWM B
PYKOBOACTBE MO WCNOJIb30BAHUIO MaTEpVIHCKOﬁ
nnatel, 4T06bl MONYYUTH NPABUALHYIO UH(OPMALLKIO.

Précautions

1.Une mauvaise installation et/ou de mauvaises
connexions peuventnuire a l'efficacité du produit
et peut méme endommager la carte mére. S'il vous
plait respecter les instructions de ce manuel et
celui du fabricant de la carte mére. Toute perte
causée par le non respect des instructions de ce
manuel ne sera pa couverts par la garantie du
produit.

2.Les connecteurs et les prises varient selon les cartes
meéres. Pour des instructions détaillées, merci de
vous référer aux instructions fournies par les
fabricants de cartes méres et d'alimentation.

3.Tous les produits de l'autre paquet (package standard
non-Raijintek / OEM fourni avec une garantie limitée
d'un an.

4.En cas de conflit entre la garantie fournie par le pays
du point de vente et ce manuel, la garantie du pays
réel de point de vente est le document qui prévaut.

5.En cas de dysfonctionnement des composants
électroniques ou besoin d'accessoires achats
pendant la période de garantie, s'il vous plait le
retourner au magasin d'achat d'origine

6.Plus de détails, s'il vous plait visitez www.raijintek.
com pour plus d'informations sur la garantie.

Informations sur la garantie

1.Raijintek Co., Ltd garantit que cet appareil est
exempt de défaut de matériel et de fabrication et
fournit une garantie matérielle limitée de deux ans
pour le dispositif & compter de la date d'achat.
Une preuve d'achat est nécessaire pour le service
de garantie. La garantie offerte couvre I'utilisation
normale.

.Ne sont pas couverts par la garantie:

- L'article qui a été modifié / réparé sans |'autorisation
de Raijintek ou I'étiquette de code a barres a été
effacé, modifié ou retiré.

- Dommages, détériorations ou dysfonctionnements
dus a un accident, une catastrophe.

- Frais de port ou de dommages de transport de
votre courrier local, ou pour toute autre cause
qui ne se rapporte pas a un défaut du produit.

~

Onlemler

1.Yanlis kurulum ya da baglantidan 6turi cihazlar
calismaz hale gelebilir ve hatta anakart zarar
gorebilir. Lutfen bu rehberdeki ve anakart
ureticisinin verdigi aciklamalara dikkat edin.
Rehberi takip etmemekten dogabilecek zarardan
dolayr garanti devre disi kalacaktir.

2.Farkli anakartlarda baglantilar ve soketler degisiklik
gosterebilir. Detayl bilgi icin anakart ve gii¢ kaynag
areticilerinin verdigi kullanim bilgilerine bakiniz.

3.Diger tir paketlemeyle sunulan tim drinler
(Raijintek’in standart paketi disinda OEM olarak
gelen uriinler bir sene sinirli garanti igerir.)

4.Satisin gerceklestigi tlkenin garanti kosullari ile bu
rehberde gecen garanti kosullari cakisma yaratiyorsa
ulkede gecerli olan kurallar dahilinde verilen
belge gecerlidir.

5.Elektronik parcalarin ya da triintin kullanimi sirasinda
alinmis olan aksesuarlarin ariza yapmasi halinde
araniin alindigi magazaya basvurulmasi gerekir.

6.Garantiyle ilgili daha fazla bilgi icin www.
raijintek.com adresini ziyaret edin.

Garanti Bilgisi

1.Raijintek Co., Ltd. bu iriini malzeme ve iscilik
sorunlarina karsi satin alma tarihinden itibaren
iki sene streyle sinirli donanim garantisiyle
kullaniciya sunmaktadir. Garanti hizmetleri icin
satin aldiginizi gosteren belge gereklidir.
Sunulan garanti, normal bicimde bilgisayar
olarak kullanimi kapsar.

2.Garanti kapsamina girmeyen durumlar sunlardir:
- Raijintek izni olmadan trin tizerinde gerceklestirilen
modifikasyonlar ve bireysel tamirler ya da zarar
gormiis, degistirilmis, cikarilmis trtin etiketi.

- Kaza ya da dikkatsizlik sonucunda gerceklesmis
hasarlar, bozulmalar, anormal calisma.

- Yerel kuryenin tasimasi sirasinda olusan hasarlar
ya da uriin arizastyla alakasi olmayan diger
sebepler.

Installation connecteurs I/O

.Connexion LED:

S'il vous plait se référer a votre manuel d'utilisation
de votre carte mére, puis connexion de ces fils
a la téte du panneau de la carte mére.

2.USB 2.0/ USB 3.0 Connection:
S'il vous plait se référer au manuel de votre carte
mere pour savoir la section de connexion "USB".
PS. Assurez-vous que votre carte mére prend en
charge une connexion USB 3.0.

3.Audio Connection:

S'il vous plait se référer a l'illustration suivante de
connecteur audio et le manuel d'utilisation de la
carte mére. S'il vous plait confirmer la carte mére
quel type utilisé, l'installation incorrecte et les
[d i feront les appareils incapables de
travailler ou peut méme endommager la carte meére.
S'il vous plait consulter le manuel de votre carte
meére pour obtenir les informations correctes.

On Panel Portlari

1.Kasa LED Baglantisi:
Lutfen anakart rehberine basvurun ve anakart
tizerindeki fislere gore bu baglantilari gerceklestirin.

2.USB 2.0/ USB 3.0 Baglantilari:
“USB” baglantilarinin yerleri ile ilgili bilgi almak
icin litfen anakartinizin rehberine basvurun.
Not: Anakartinizin USB 3.0 destegi olup olmadigini
kontrol edin.

3.Ses Baglantisi:

Lutfen ses baglantisiyla ilgili cizimi esas alin ve
anakartinizin kullanma kilavuzuna géz atin.
Anakartin hangi tip ses baglantisini kullandigini
tespit edin. Yanlis baglantilardan ve kurulumdan
dolayi ses cikisi devre disi hale gelebilir ve hatta
anakart zarar bile gorebilir. Dogru bilgi icin
lutfen anakart rehberine goz atin.

If M/B with RGB header, then switch
to left. Use connect cable to link “M/B
RCB port” & “M/B RGB header”. The RGB
function is synchronously controlled
by M/B. If M/B without RGB header,
then switch to right: RGB function is
controlled by Remote controller.

Se la scheda madre dispone di un
header RGB, posizionare lo switch del
controller verso sinistra. utilizzare il
cavo in dotazione per connettere il
controller all’header della scheda madre.
In questo caso, la funzione RGB viene
sincronizzata e controllata dalla scheda
madre. Se la scheda madre NON dis-
pone di un header RGB, posizionare lo
switch del controller verso destra: la
funzione RGB viene controllata dal
comando a distanza.

Eger anakartta RGB fisi varsa bu duru-
mda sola ¢ekin. Kablosunu kullanarak
“anakart RGB portu” & “anakart RGB fisi”
baglantisini yapin. RGB fonksiyonu
anakart tarafindan kontrol ediliyor
olacak. Anakartta RGB fisi yoksa o
zaman saga cekin: RGB fonksiyonu
uzaktan kumandayla kontrol ediliyor
olacak.

Precauciones

1.La instalacion incorrecta del disipador y su

conexion puede ser perjudicial al no trabajo

correcto del producto e incluso dafar la placa

base. Tenga en cuenta las instrucciones de este

manual y la placa base que va a ser instalado. El

uso indebido o incumplimiento de las instrucciones

ofrecidas en este manual no estdn cubiertas por

la garantia del producto.

.Los conectores y enchufes varian en cada placa

base. Para mas detalles debe tener presente el

manual proporcionado por su placa base y

fuente de alimentacion.

3.Todos los productos que reciba en otro paquete
(Paquete no estandar por Raijintek) viene con
una garantia limitada de un afio.

4.En caso de conflicto entre la garantia proporcionada
por el pais de punto de venta y el manual, la
garantia del pais natal de venta sera el
documento vigente.

5.En caso de mal funcionamiento de los componentes
electrénicos o necesidad de accesorios compras
durante el periodo de garantia, por favor devuélvalo
a la tienda de compra.

6.Mas detalles, por favor visite www.raijintek.com
para mas informacion sobre la garantia.

~

Informacién sobre la garantia

1.Raijintek Co., Ltd. garantiza que el disipador esta
libre de defectos materiales y en su construccion.
Ofreciendo una garantia de dos afios a partir de
la fecha de compra de su ticket. Se requiere el
justificante de compra para hacer servicio de la
garantia. La garantia ofrecida cubre el uso normal.

2.Las siguientes casuisticas no estan cubiertas por
la garantia:

« El producto que ha sido modificado / reparado sin
el permiso de Raijintek o la etiqueta del cédigo
de barras ha sido manipulada, modificada o
retirada.

- Cualquier dafo, deterioro o funcionamiento in-
correcto causado por un accidente o catastrofe.

- Durante el envio el transporte de su mensajero
local sufre dafos, o cualquier otra causa no
relacionada que produzca defectos al producto.

UWAGA

.Nieprawidtowa instalacja i podtaczenie urzadzenia,
spowoduje, ze bedzie ono niezdolne do pracy, a
nawet moze uszkodzi¢ ptyte gtéwna. Nalezy $cisle
przestrzegac niniejszej instrukcji, jak réwniez
wskazéwek producenta ptyty gtéwnej. Uszkodzenia
oraz straty spowodowane nieprawidtowa instalacja
(wbrew niniejszej instrukcji) nie sa objete gwarancja.
2.Ztacza i gniazda w ptytach gtéwnych moga sie od
siebie rézni¢. Aby uzyska¢ szczegotowe informacje,
zapoznaj sie z instrukcja uzytkownika ptyty
gtownej oraz zasilacza.

3.Wszystkie produkty w innym niestandardowym
opakowaniu (nie w oryginalnym, standardowym
opakowaniu Raijintek) lub OEM, objete sa roczna,
ograniczona gwarancja producenta.

4.W przypadku konfliktu pomiedzy gwarancja
udzielona przez Twojego sprzedawce w kraju nabycia
produktu a gwarancja producenta, dominujacym
dokumentem jest gwarancja Sprzedawcy.

5.W przypadku awarii elementéw elektronicznych i
akcesoriow niezbednych do prawidtowego dziatania
urzadzenia, nalezy zwréci¢ sie do Sprzedawcy
wraz z dokumentem zakupu.

6.Wiecej szczeg6tow dotyczacych gwarancji znajdziesz

na stronie www.raijintek.com .

Informacja o Gwarangji

1.Raijintek Co., Ltd. gwarantuje, ze urzadzenie jest
wolne od wad materiatowych oraz produkcyjnych
i zapewnia dwuletnia ograniczona gwarancje
sprzetowa, liczac od daty zakupu. Dowdd zakupu
jest wymagany w celu przepr gwarangji.
Gwarancja obejmuje normalne zastosowanie
urzadzenia dedykowane do komputera PC.

2.Gwarancja nie obejmuje nastepujacych przypadkow:
- produkt zostat zmodyfikowany lub naprawiony
bez zgody Raijintek oraz bez naklejki zawierajacej
kod kreskowy lub, gdy kod zostat zatarty lub
zmieniony;

- uszkodzenia spowodowane nieprawidtowym
montazem lub uzytkowaniem;

- uszkodzenia wynikte podczas transportu przez
lokalnego kuriera lub kazdej innej przyczyny
nie zwiazanej z wada produktu.

Instalacion puertos
frontales de entrada/salida

1.Conexiones LED:
Por favor, consulte el manual de instrucciones de
su placa base, a continuacion, conecte estos cables
en el panel de control de su placa base.

2.Conexién USB 2.0/ USB 3.0:
Por favor, consulte el manual de su placa base
para saber cudl es el conector USB interno.
P.D:. Verifique que su placa base lleva conexion
USB 3.0.

3.Conexién de Audio:
Por favor consulte la siguiente ilustracién del
conector de audio y verifique si es compatible con
la de su placa base. Aseglrese que este bien
conectada, ya que puede crear un corto circuito
y dafar su placa base. Por favor, consulte el manual
de su placa base para mas informacién.

Instalacja frontowych portéw 1/0

1.4Podtaczenie LEDOw w obudowie :
Prosimy odnie$¢ sie do instrukcji obstugi ptyty
gtéwnej, a nastepnie podtaczenie przewodow
zgodnie z nagtéwkami panelu na ptycie gtéwnej.

2.Podtaczenie USB 2.0/ USB 3.0:
Prosimy odnie$¢ sie do instrukcji obstugi ptyty
gtéwnej w celu odnalezienia sekcji podtaczenia
portow USB.
PS. Upewnij sie, ze Twoja ptyta gtéwna obstuguje
potaczenie USB 3.0.

3.Podtaczenie Audio:

Prosimy zapozna¢ sie z ponizsza ilustracja ztacza
audio oraz instrukcja obstugi ptyty gtéwnej.
Upewnij sie, ze ptyta gtéwna obstuguje taki typ
zfacza; nieprawidtowa instalacja i podtaczenie
spowodowac¢ moze niezdolno$¢ urzadzenia do
pracy lub uszkodzi¢ ptyte gtéwna. Prosimy
zapoznac sie z instrukcja ptyty gtéwnej w celu
uzyskania odpowiednich informacji.

Wenn das M/B mit RGB-Header ausge-
stattet ist, dann nach links wechseln.
Verwenden Sie das Verbindungskabel
um den "M/B RGB-Port" und "M/B RGB-
Header" zu verbinden. Die RGB-Funktion
wird synchron von M/B gesteuert. Wenn
das M/B ohne RGB-Header hat, dann
wechseln Sie nach rechts: Die RGB-
Funktion wird tber die Fernbedienung
gesteuert.

M/BHRGBAY & —{F Th &, I t]
YEBEZTTEWERT—7IVEBENT”
M/B RGB /R—k"&"M/B RGBA\w A —"
[T LE T, RGBIEEEAM/BICKYE
AL THIEENE I, M/B w/o RGBTH
NIE BICTVBEZTTEL RGBHEE
AUE—bIVFO—F—lCKYFIEE
nx9,

Jesli M/B z nagtéwkiem RGB, przejdz w
lewo. Za pomoca kabla potaczeniowego
nalezy potaczy¢ "M/B port RGB" i "M/B
nagtowek RGB". Funkcja RGB jest
sterowana synchronicznie przez M/B.
Jesli M/B bez nagtéwka RGB, przetacz
w prawo: funkcja RGB jest sterowana
przez Remote controller.

Precauzioni

1.Una errata installazione e connessione potrebbe
rendere | dispositive inutilizzabili, o persino
danneggiare la scheda madre. Osservare le
istruzioni in questo manuale ed in quello del
produttore della scheda che installerete. Eventuali
danni derivanti dalla non osservanza delle
istruzioni, non sono coperti dalla garanzia del
prodotto.

2.1 connettori e i socket variano nelle differenti
schede madri, pertanto, suggeriamo di consultare
i manuali di scheda madre e motherboard
durante I'installazione.

3.Tutti | prodotti commercializzati senza il packaging
Raijintek fruiscono di 12 mesi di garanzia limitata.

4.In caso di conflitto tra la garanzia riportata nel
manuale e quella relativa alle norme vigenti del
paese in cui il prodotto viene venduto al con-
sumatore finale, verranno ritenute prevalenti le
normativa del paese di vendita.

5.In caso di malfunzionamenti di componenti
elettronici o di necessita di accessori durante il
periodo di garanzia, rivolgersi al rivenditore
dove si e acquistato il prodotto.

6.Per maggiori dettagli sulle condizioni di garanzia
vi invitiamo a visitare il nostro sito istituzionale,
www.raijintek.com

Informazioni sulla garanzia

.Raijinterk Co, Ltd. Garantisce che questo dispositivo
¢ esente da difetti nei materiali e nella manifattura,
e fornisce due anni di garanzia limitata decorrenti
dalla data di acquisto. La prova d’acquisto &
necessaria per usufruire della garanzia. La
garanzia offerta, copre il normale utilizzo del
prodotto ed esclude le seguenti situazioni.
2.Non & coperto da garanzia un prodotto che ¢é stato
modificato o riparato senza previa autorizzazione
di Raijintek.

- Non sono coperti tutti quei prodotti il cui adesivo
riportante il codice a barre sia stato danneggiato,
modificato o rimosso.

- Deteroriamenti derivanti da cadute incidenti o
calamita.

- Danneggiamento da parte del corriere locale, o
ogni altra causa che non é relativa ad un difetto
del prodotto.

ATENCAO

1.A incorreta instalacio ou conexdo fara os
dispositivos serem incapazes de trabalhar ou
poderdo danificar a placa-mae. Por favor leia as
instrucdes neste manual e do produtor da placa-
mae. Qualquer perda causada pela ndo observacao
das instrucdes neste manual ndo serdo cobertos
pela garantia do produto.

2.0s conetores e encaixes (sockets) variam com as
diferentes placas-mde. Para instrucdes detalhadas,
por favor consulte as instrucdes fornecidas pelos
produtores da placa-mae e fonte de alimentacao.

3.Todos os produtos em outros pacotes (pacotes
padrao nao-Raijintek/OEM) tem garantia limitada
de um ano.

4.Em caso de conflito entre a garantia fornecida pela
pais do ponto de venda e este manual, a garantia
do pais actual do ponto de venda deve ser o
documento prevalente.

5.Em caso de funcionamento defeituoso dos com-
ponentes electronicos ou necessidade de compra
de acessorios durante o tempo de garantia, por
favor retorne a loja de compra original.

6.Mais detalhes, visite www.raijintek.com para mais
informacdes sobre garantia.

Informacdo de Garantia

.Raijintek Co., Ltd. garante que este dispositivo é
livre de defeito no material ou mdo-de-obra e
da uma garantia limitada ao hardware de dois
anos para o dispositivo desde a data de compra.
Prova de compra é necessaria para o servico de
garantia. A garantia oferecida cobre apenas o uso
normal do computador.

2.0 seguinte ndo é coberto pela garantia:

- 0 produto foi modificado/reparado sem a autorizacdo
da Raijintek ou o cédigo de barras foi desfigurado,
modificado ou removido.

- Dano, deterioragdo ou funcionamento defeituoso
resultantes de acidente ou calamidade.

- Dano na expedicdo ou transporte pelo seu correio
local, ou outra qualquer causa que ndo seja
relacionada com um defeito de produto.

Installazione I/0 su
pannello Frontale

1.Case LED Connection:
Fare riferimento al manuale della scheda madre,
quindi connettere questo led al relativo header
sulla motheboard.

2.Connettivita USB 2.0/3.0:
Fare riferimento al manuale della scheda madre,
quindi connettere questo led al relativo header
sulla motheboard, assicurandosi che la scheda
madre supporti adeguatamente la connettivita
USB 3.0.

3.Audio Connection:
Fare riferimento alle seguenti illustrazioni, e al
manuale della scheda madre per verificare quale
tipologia di connettore & implementato. Un
installazione non corretta potrebbe rendere il
dispositivo instabile o persino danneggiare la
scheda madre.

Instalacdo das portas I/0 frontais

1.Conexao dos LED da caixa:
Por favor visite o manual de utilizador da placa-
mae, conetando entdo esses LEDs ao encaixe
devido da placa-mae.

2.Conexao dos USB 2.0/USB 3.0:
Por favor visite 0 manual da placa-mae, procurando
a seccdo da conexao “USB".
NOTA: Verifique que a placa suporta USB 3.0 para
0 caso dessa conexao.

3.Conexdo Audio: i

Verifique na ilustracdo o conector Audio e o do
manual de utilizador da placa-mae. Confirme que
tipo de conector usa a placa-mae, pois a instalacdao
ou conexdo incorreta fard os dispositivos serem
incapazes de funcionar ou até danificar a placa-
mae. Por favor consulte o manual da sua placa-
mae para obter informacdes corretas.

Si votre carte mére gére le RGB, alors
placez 'interrupteur en position gauche.
Utilisez le cable de connexion jusqu’a
la connectique RGB de la carte mere. La
fonction RGB sera automatiquement
synchronisée avec la carte mere. Si
votre carte mére ne gere pas le RGB,
alors placez I'interrupteur en position
de droite : la fonction RGB sera gérée
par la télécommande.

HEWREBRCBIEZEERINEREF L
BEmETE o ERERREER
=R EMNAIRGBIEEE - BIRGBI)
BENZICEREIRREATES - BHE
W~ B BRCBIEZEERINEE » Fi5t)
BERImE A% - BIRGBIIEERE L
EHRERREGE -

Se M/B com cabecalho RGB, entdo
mude para a esquerda. Use o cabo de
conexdo para ligar "Porta RGB M/B" e
"Cabecalho RGB M/B". A funcdo RGB é
controlada de forma sincrona por
M/B. Se M/B w/o cabecalho RGB, entdo
mude para a direita: a funcdo RGB é
controlada pelo controle remoto.

1.RBEV DAY A=V EBRD T Y —R— R s Lk
DRI T35, EERA VA —IVERAEE T
FERBBAEDIETRES Y o TIEEL, SBAEIC
ol BEERIO BRI RIELEL

2B—3IFIVEARTRDEBHI Y —R—F LIRS
1255 %Y —R— FEBREBO R LI ERHA
BELEBLTZEN,

3 ERHFAN G DEELOEMD BE, RN 14
Mic%%

4.6 LIRFSE COEMMRAEN C OHAELERT S
HBEIRFTEDORAHRES.

S AREHARICBF AR RO EIEL T B DI BH%
EIBABALEEICEELTIEEL,

HADRAIEweb 1 bwww.raijintek.com TZE<

fEEW,

PaRIREE

1.Raijintek Co.Ltd (T DERDMEIEAFIDREE
REEY %, COBERE ERGEERDEHRICESTHY.
ARSI RIEARD S 2 F/H, RAPRIERT S
BEEBALRCEZATERL Y — MERHELT
<fEEW,

2T OBEIRIETERLN:

- 704 Raijintek 5B TRV ABDIERR UL, &

6.

SN\=O— FHBYELPHIRY 2.
- BROKEPEREXRHD RIRE R
2

=1

RIVFAFATOK— DB

1.LEDS A FRU D — KEWAH1 888
P —R—MERHERESEL
FEIERE B, ERTI Y —

2.USB 2.0/ USB 3.00— RERYA13 5468
Y —R— FEREEEBRLIT—R
BAEDIVER DL SEABOIETEBIUSBI—

—R— ROUSBEIRAW,

g SB3.01 A —TJT—RAAEZIEY
BHLRBLTREEL,
3. G0 — FOMYFEEA
—F— REFBEAB By I
BEEEBERN>TEEN. Y —R— PO
BOXBEAARRLTEE, EBOMENGT

—R— RO EBEARET HAREN BY, I —F—

PRl A 5% L CERADRUIERNMES,

Si M/B con RGB, entonces cambiar a la
izquierda. Usar el cable de conexién a
“Puerto M/B RGB” & “M/B RGB". La
funcién RGB es sincronicamente con-
trolada por M/B. Si M/B con o RGB,
entonces cambiar a la derecha: la
funcién RGB es controlada por el
controlador Remoto.

Ecnu matepuHckas nnata ¢ KOHHEKTOpPoOM
RGB, nepekniounte Bneso. crnonssynte
COeAMHUTENbHbIN Kabenb ANS MOAKMIOYeHUs
«MaTepuHckas nnata - RGB nopt» u
«MaTepuHckas nnata - RGB KoHHekTOp».
®yHKUMs RGB ByneT KOHTPOAMPOBATLCS
MaTepuHCKOI nnatoii. Ecnu maTepuHckas
nnara 6e3 koHHekTopa RGB, nepeksounTe
Bnpaso: c¢yHkuma RGB ynpaensetcs
ny1bTOM AUCTAHLMOHHOIO yNpaBieHus.



= Side Panel Disassembly
= Side Panel Deinstalltion
= Démontage sidepanel
= Desmontaje del panel lateral
= Rimozione pannello laterale &
s TA R N—DRTBH% |
= AIARFRE TSN o
= Pa3bopka 6okoBoOV naHenn
= Yan Panelin Cikarilmasi
= Demontaz panelu bocznego
= Desmontagem do

painel lateral

= Foot stand installation
= StandfuR

= Installation du pied de support

= Instalacion del soporte de la base
= Base di installazione
= JY R RV REAME
 HBZERSN

\ = Motherboard Installation '

= Motherboard Installation
= Installation de la carte-mére

= Instlacion placa base.

= Installazione Motherboard

= IYP—R— FOEIIFHE

« THIRZERSR

= YCTaHOBKA MaTEPUHCKOM MmaaThl
= Anakart Montaji H
= Instalacja ptyty gtéwnej
= Instalacdo da placa-mae

= PSU Installation
= PSU Installation
= Installation Alimentation I
= Instalacion fuente de alimentacion o PSU = YcTaHoBKa 610ka nutaHus
= Installazione PSU = Gii¢ Kaynagi Montaji
EIROBIAE = Instalacja zasilacza

EBRZERGN = Instalacdo da fonte de alimentacdo

= HanosibHoe ucnosHeHne
= Ayak stand kurulumu

= Montaz stojaka noznego
= Instalacdo do pé

N

= 5.25" HDD Installation

= 5.25" HDD Installation

= Installation composants 5.25"

= Instalacién disco duro 5.25"

= Installazione dischi rigidi 5.25"

= 5.25" N\—R T R DB AE
= 525" BIREZRGN

= YcTaHoBka 5.25" HDD

= 5.25" HDD Montaji

= Instalacja dyskow twardych 5.25"
= Instalacdo dos HDD 5.25"

= 2.5" HDD Installation

= 2.5" HDD Installation

= Installation composants 2.5"
= Instalacion disco duro 2.5" = 2.5" HDD Montaji
= Installazione dischi rigidi 2.5" = Instalacja dyskow twardych 2.5"
" 2.5"\—RT4RU DY A% = Instalacio dos HDD/SSD 2.5"

» 25" IR ZRTITN
= YcTaHoBka 2.5" HDD

= 3.5" HDD Installation
= 3.5" HDD Installation
= Installation composants 3.5"

= Instalacion disco duro 3.5"

= Installazione dischi rigidi 3.5"

= 3.5" N—R T RV DB B

= 3.5 BRI S £

= YcTaHoBka 3.5" HDD

= 3.5" HDD Montaji

= Instalacja dyskow twardych 3.5"
= Instalacdo dos HDD 3.5"

= Magnetic front door
= Magnetisches Front Panel
= Panneau latéral magnétique

= Magnetic PSU Cover
= Magnetische
Netzteilabdeckung

= Removable HDD cage = Soundproof dust cover

= Puerta frontal magnética
= Porta frontale magnetica

= BESBERIT 7 O b /N —
= HEIR VBT ZE R

= MarHuTHas nepenHsas agepua

= Manyetik On kapak

= Cache-alim magnétique

= Cubierta magnética de la
Fuente de Alimentacion - PSU

= Cover PSU magnetica

= BESRBERANEIR 1 =y b/ \—

= Entfernbare Festplattenkafige
= Racks de disque dur amovibles
= Caja de HDD extraible

= Gabbia HDD rimovibile

» JL—=INTIWIN=R TR 7=
= DEENIERT TS

= Schalldichte Schutzabdeckung

= Filtre anti poussiére insonorisé

» Cubierta antipolvo insonorizada
= Cover impermeabile e antipolvere
* BB A AN —
[ERELES

l g = CbeMHbI 10TOK AJiA = 3ByKOU30/IALMOHHAA U
| ”  BIRNERE ! XeCTKOro Amncka nblne3alnileHHan KpbiliKa
= Magnetyczne drzwi przednie ﬂﬂ ﬂ l “ = MarHuTHas KpblKa :: = Cikarilabilir HDD kafesi = Wyciszona, dzwiekoszczelna
= Porta frontal magnética "Iﬂ" l ” 610Kka NnuTaHua l _ = Zdejmowana klatka na HDD ostona przeciwpytowa
“Ill“ = Manyetik PSU Kapagi ' “tf{ = Caixa de HDD removivel = Tampa contra poeira a
I]lﬂll Illl = Magnetyczna ostona :% prova de som
zasilacza u/
H II Illiﬂl = Tampa magnética da
‘ “H“ fonte de alimentaci
“l” onte de alimentacao

@

:I
|
n

h
h
|

il
I:I:I
f

= Install Water cooling system
= Installieren Sie das WATER COOLING SYSTEM
= Installer le watercooling
1-1 = Instalar el sistema de refrigeracion liquida
= Installare il sistema di raffreddamento a liquido
" KBVRT LERIAITET
I KERBEES

= YCTaHOBUTE CUCTEMY
BOZAHOIO OXJ1aXKeHMNs

= Su sogutma sistemini
yerlestirin

= Zamontuj system
chtodzenia ciecza

= PCI Card Installation
= PCI Card Installation
= Installation carte PCI

= Instalacién tarjeta PCl

= Installazione schede di
espansione PCI

= HL5RA— FOE S 7%

BRRZESD

= Filter Removal

= YpaneHuve (aeMoHTax) hunbTpa
= Filter Entfernen

= Filtre Cikartma

= Démontage filtre a poussiére = Usuwanie filtra

= Eliminacidn/retirada de Filtro = Remocdo do filtro
= Rimozione Filtro

.II N ) O
: = YcTaHoBka kapTbl PCI = T4 IVE—DEIS /DR BTE gy(é)%%%%o
: = Instalar o sistema de = PCI Kart Montaji P RBRED %%(%D%C§
2 refrigeracdo liquida | = Instalacja kart PCl 0%%%%%)%
0 P gstalacio dos dispositivos PCI %0%%?%%%0%%6
: — St
: = SRS
: m

i ‘\
A ==
] u
2 l )
: 2-1 “"‘%
: =

/]

EBE
—

FEFEFEEEEEEEEEEEE

= Fan Removal

= Lufter Entfernen

= Démontage ventilateur

= Eliminacion/retirada de ventilador
= Rimozione Ventola

- RUEERE DR T B

s ABEEE/HBRGN

= YaaneHve (AeMOHTaX) BeHTUASTOPA
= Fan Cikartma

= Deinstalacja wentylatora

= Remocdo da ventoinha

FEEFEEEEEEEEEEEEEEEEEE.

—
/ Vil




